Determine the area under the standard normal curve that lies between (a) Z=-1.34 and Z=1.34, (b) Z=-1.87 and Z=0. (c) Z=-0.85 and Z=1.68. 

(a) 
[image: image1.png]© Area from a vaiue (Use to compute p from Z)
Vaiue from an area (Use to compute Z for confidence intervals)

Specify Parameters:
Mean 0
D 1

Above 1.96
Below 1.9

© Between -1.34 and 1.34
Outside -1.96 and 1.96

Results:
Area (probabilty) 0.8198




As seen from the above plot, required area = 0.8198

(b)

[image: image2.png]® Area from a value (Use to compute p from Z)
Vaiue from an area (Use to compute Z for confidence intervals)

Specify Parameters:

Mean 0

D 1
Above 1.9
Below 1.9

© Between -1.87 and 0
Outside -1.9 and 1.96

Results:
Area (probability) 0.4693




As seen from the above plot, required area = 0.4693

(c)

[image: image3.png]Area from a value (Use to compute p from Z)
Vaiue from an area (Use to compute Z for confidence intervals)

Specify Parameters:

Mean 0

D 1
Above 1.9
Below 1.9

© Between -0.85 and 168
Outside -1.9 and 1.96

Results:
Area (probability) 0.7559




As seen from the above plot, required area = 0.7559

